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The paper in this book No. F364A

is made of 50% high grade rag stock
with a WATER RESISTING surface sizing.
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and under .3 read 11.0, the distance out
‘‘Cut or Fill’’ and under .1 read 16.7, the

Side Stake

distance out from the side stake at right.

KEUFFEL & ESSER CO., N. Y
For Curve Tables see end of book.

Side Stake
Distance out from Side or Shoulder Stake

Roadway of any Width. Side Slopes 1% to 1.

Slope Stake

DISTANCES FROM SIDE STAKES FOR CROSS-SECTIONING

In the figure below: opposite 7 under “‘Cut or Fill"’
from the side stake at left, Also, opposite 11 under
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XII

Natural Trigonometrical Functions

Angle. Sin. Tan. Sec. Cosec. Cotg. Cosin. Angle. Sin. Tan. Sec. Cosec. Cotg. Cosin.

or

5299 1.1792/1.887(1. .84805 39
.5324], 5 . .84650|
.5348/.63 ‘ . o . 84495
.5373.6: p ¢ K .84339
L5398/, ’ ¥ : .84182
5422, ; ¢ .550].84025
.5446/(.6494/1 . ? 2 .83867
L5471, v . 5 .83708
.5495/. H X z .83549
.5519|. ¥ : < .83389
5544, v 1. ‘ .83228
.5568/.6703|1 . z o .83066
.5592|. i . 4 .82904
.5616/. : 3 d .82741
.5640/. b ¥ .464/.82577
.5664/. $ 3 ; 82413
.5688|. . 311.768)1. .82248
L5712, f 75101, .82082
.5736).7002(1 . d A .81915
.5760). .2233|1. < .81748
.5783).7080(1.2258|1. x .81580
.5807(.7133|1, L7221, .81412
58311, b ¥ L .81242
585417 : s . .81072
.5878).7265(1 22 ? 2 .80902
.5901]. $ .695(1. .80730
.5925/.7: 4 R 2 .80558
.5048|. y § .351/.80386
5972 .7445|1 . . v .80212
.5995(.7490(1 , s .335/.80038
6018, 75361 . 5 £ . 79864
.6041|.75 : : : . 79688
.6065|. & : A 79512
.6088|.7673/1. .643]1. 79335
.6111).77201.2633(1.636|1.295|.79158
L6134, 3 .630|1.288|.78980
6157, .2690(1. .280|.78801
.6180]. .2 .618|1.272|.78622
.6202). 4 : .265).78442( 40
.6225]. : : 5 .78261
6248, 8 .60141. .78079| 20 |
.6271).8050(1.2838|1.595(1. 77897 10 ’ {

Cosin, Cotg. Cosec. Sec. Tan. Sin. Angle Cosin. Cotg. Cosec.




TRIGONOMETRIC FORMULAE
B B

| A
b (4] C
Right Triangle T% Oblique Triangles

Solution of Right Triangles

] a a ¢
For Angle A. sin = 51 cos= ;,tan= 3 1 cot = 2 ' 5€€ = 7 cosec =

Given Required o

z
a, b A, B,c| tand===cotB,c=+/®F B =aq 1+_a—2

e
40 |4 B 0| sind=%=cosB,0=yTTFITay =c\/1_;‘7

A, 4 B=90°—A4, b = acotd, o= —2
sin 4.

b
=90°— =} - =
A, b ! B=90°—A4,a =btan 4, ¢ o~

A, ¢ | B, - B=90°~A,a=osinA,b=ccosA,
Solution of Oblique Triangles
Given [ Required | asin B el

A, B,a|b ¢ C | b:—sinA,O’=180—(A+B),c <
00 = _asin O
0 = 180°—(4 ~ B),c————sinA

1t 1(A—p)—@=0)tan } (41 B)
a, b, A+B=180°— 0, tan }(4—B)= P 5

b ai
A, a, : sin B = —M,

_@sinC
" sin A
_a+tdb4e | S (7 7;)(.,\--0)
B e il S — /———,
2 \ be
siu%B:\/(N n;(z_d

s:‘ﬁ%}. area = /3(3—a) (5—0) (5—¢)
_besin 4
e 2
a® sin B sin O
25in A

REDUCTION TO HORIZONTAL

Horizontal distance =Slope distance multiplied by the
cosine of the vertical angle. Thus: slope distance =319.4ft.
Vert. angle=5°10’. From Table, Page IX. cos 5° 10'=
-9959. Horizontal distance=319.4X.9959—=318.09 {t.
Horizontal distance also= Slope distance minus slope
distance times (1—cosine of vertical angle). With the
same figlures zs in theC preceggn%,exgaglgg)lle, tglggsfol})gzvl-
i f ing result is obtained. Cosine 5° 10/=., h 1= =.0041.
SERNONIE fistance -, O rosplt is obty 819.4—1.31=318.09 .
B When the rise is known, the horizontal distance is approximately:—the slope dist-
- ance less the square of the rise divided by twice the slope distance. Thus: rise=14 ft.,

* slope distance—302.6 ft. Horizontal distance=3026—2l;< >§01246=302.6—o.32=m28 it.

,0=180°—(A4+B)

area =

MADE IN U, 8, A.




